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Ideals for irreducible component#ﬂ)f Xpar

I = (w® - 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 25 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIM=(u®—u*+... —u—1)

(i) Arc colorings

w- (1)

1
ag = 0

1
ag = U2

u
a3 = u3 + u
w3

al = u5 + US + U

w?+1
a7 = u2

wt+u+1
alg = U4

—ull — 249 — 44" — 4ud — 33
g = \ —yt — ¢ — 20" — WS +ud+u

—u'® — 3ut® — 8u!* — 13u!? — 176! — 15u® — 10u8 — 2u* +u? + 1
ai; = —ul® — 2416 — 514 — 6wl — 5ul0 — 208 + 200 + 4ut + w2

—ul0 — ¥ — 28—t 241
ag = \ —yl2 — 210 — 448 — 440 — 3u?

—u'7 — 2015 — 518 — 6utt — 5 — 2u7 4 208 + 4ud +u

a12 = \ —19 — 317 — 8u!t® — 13u!d — 17wt — 150 — 1067 — 2u® +u + u

u?t +3u 4+ = Tut + 1
a5 = u24_u23+_._+2u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4u* + 12022 +4u? +40u?0 + 120t + 7608 + 361 T + 13206 +68uld +168ult +104u'3 +
18412 + 128u!! + 144110 + 116u° + 96ud + 76w’ + 24ub + 32u® — 8u3 — 12u2 — 120, — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7,Co WP+t u—1
C2,C8 u?® vt —u—1
€3,C4,C5
25 24
C6, €10, C11 u u™+ 3u—1
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C9 ?‘/25+23924+--~+53y—1
C2,Cg y25+7y24++y_1
C3,C4,Cs
2 24
Cg,C10, C11 y5737y ++y71
C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = 0.265781 4 0.9972481

—10.12290 + 2.994731

—17.9259 — 4.01171

u= 0.265781 — 0.9972481

—10.12290 — 2.994731

—17.9259 4 4.01171

u = —0.273882 4 1.0546701

17.4097 — 3.34231

—17.7803 + 3.32691

u = —0.273882 — 1.0546701

17.4097 + 3.34231

—17.7803 — 3.32691

u = —0.246006 + 0.8739931

—3.15716 — 2.262681

—17.3905 + 6.21011

u = —0.246006 — 0.8739931

—3.15716 + 2.262681

—17.3905 — 6.21011

u = —0.830816 + 0.7776431

—3.05026 + 1.705941

—11.67057 — 0.751961

u = —0.830816 — 0.7776431

—3.05026 — 1.705941

—11.67057 4- 0.751961

u= 0.865156+ 0.7513111

—14.5343 — 2.56891

—11.95129 4 0.133811

u= 0.865156 — 0.7513111

—14.5343 + 2.56891

—11.95129 — 0.133811

u=0.799748 4 0.8346531

3.10996 + 0.095241

—9.28181 + 2.249621

u= 0.799748 — 0.8346531

3.10996 — 0.095241

—9.28181 — 2.249621

u = —0.789348 4 0.8873171

4.84212 — 2.965821

—4.58372 + 3.076781

u = —0.789348 — 0.8873171

4.84212 + 2.965821

—4.58372 — 3.076781

uw= 0.775933 + 0.9331117

2.80794 4 5.826311

—10.19251 — 7.460161

u= 0.775933 — 0.9331111

2.80794 — 5.826311

—10.19251 4 7.460161

u = —0.771220 + 0.9779561

—3.66358 — 7.698421

—12.72418 4- 5.777851

u = —0.771220 — 0.9779561

—3.66358 + 7.698421

—12.72418 — 5.777851

u= 0.774392 4 1.0058901

—15.3222 4 8.66701

—13.19072 — 4.946411

u= 0.774392 — 1.0058901

—15.3222 — 8.66701

—13.19072 4 4.946411

u = —0.728653

—18.6276

—11.9440

u=0.172656 + 0.6452981

—0.420243 + 0.8528631

—9.01002 — 7.648571

u= 0.172656 — 0.6452981

—0.420243 — 0.8528631

—9.01002 + 7.648571

u= 0.636642

—7.02137

—11.7190

u = —0.392781

—0.881262

—10.9350




II. u-Polynomials

Crossings u-Polynomials at each crossing
5
c1,C7,Co uP 4+ 4u—1
C2,C8 u® — w4 —u—1
C3,C4,Cs
25 24
€65 C10; C11 u ut+ du—1
C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1,67,Co y?® +23y* + -+ 53y — 1
C2,C8 v Ty by —1
C3,C4,Cs
€6, €105 C11 y?® =3+ y—1
C12




